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Group 2 Prelims Test — 06 - 02-04-2022 — Answer Key

1. Assertion[A] : The free floating hydrophytes Eichhornia and Salvina in the aquatic
bodies are problematic

Reason[R] : Since they easily spread and cover the entire surface and blocked the
water ways.

A) [A] False [R] False B) True[R] True C) [A] True [R] False D) [A] False [R] True

1. spp A: pfled WssED Sreuymisentean mbamiaiwm (QETW STIO)) LOBEHID
grevalleiwm pipmeseied FEMLG Dimasend@d PUSMS GBUEGHSHID

amend R: Qmeusel asaifiswons piler Coburiny weeugd uyel HEIm LHms
HoL  CFuigiel .

A) A zap R sag B) A afl R &f C) A ofl R gag D) A gaug R &l

2. The compound formed when aniline is heated with Fuming sulphuric acid at 353K is
A) P- amino benzene sulphonic acid B) o-amonio benzene sulphonic acid
C) m- amino benzene sulphonic acid D) p- nitro benzene sulphonic acid

2. gfedenen Umawd aHHd Dfevdg i al 353K Cauliuiu@sasn Curg o mamgd
Caimnoid

A) p- oCam Guendea &eb."Cumafid ouievid

B) 0- 9ufiGam Queiiden aev. Cunefids ouievid

C) m- 9niCenm Quendeair &ob. .Cumelld ojeold

D) p- opl Cymr Quender &ev. Curefd oudeud

3. Where does oxidative phosphorylation take place?
A) chloroplast  B) mitochondrion C) ribosome D) lysosome

3. gubenilggGanmm LmedCul. Gamiy emig Criiaing?
A) usmsaflsd  B) el CLr smewiflwenr ) enpCunCemb D) eneoGanGamb
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4. Who discovered Gamma rays from the following?
A) Paul Villand B) Marie Curie  C) J.J. Thompson D) Adam Osborne

4. Gamma sglTteemen HewIBHLIgSHHeuT wrrr?
A) umed eileorsd;  B) Guofl suyf O) JJ. smbeveit D) suLib gerd@uimirest

5. s are the factors responsible for blood coagulation
A) Platelets B) Eosinophils C) Basophils D) Monocytes
5. e QPSSO 2_MBHMV GHLUGHBHID STIRI QLS

A) Q553 Baei1 B) rfCamievaser C) CuGamilsbmer D) ConCemengl (haselr

6. The net gain of energy from one molecule of glucose during aerobic respiration is
A) 4 ATP B) 8 ATP C) 40 ATP D) 38 ATP

6. @ cPe&ImE GEnHCHTele(hbH STMHBIF SHauTFHH6 cweold CUBLILGL HiS)
SEBM6D 6VTLID 6IATLIGI

A) 4 gug9.9 B) 8 g.9.14 C) 40 g.9.19 D) 38 g.19.19
7. Plaster of paris is

A) CaSO,; H,O B) CaSO; % H,0 C) CaSO, 2H,O D) CaSO, 3/2 H,O
7. unferd &ThFHl 6T - SYSLD.

A) CaSO4 Hzo B) CaSO4 % Hzo C) CaSO4 2H20 D) CaSO4 3/2 Hzo
8. Which of the following is an acidic salt?

A) Nag SO4 B) NaHSO3 () Nag SO3 D) KZSO_;

8. Uaiieumeuetioummiell 61gl SifevdSHeiieno eumuiibgh 2 (i?

A) Naz SO4 B) NaHSO3 (‘) Naz SO3 D) KzSO4

9. The hormone renin is produced by the

A) Pancreas B) Gall Bladder C) Liver D) Kidneys

9. —mmme-Qyenflett eTctIgID QMMTTELOTEMET 2 BLIGS CFuISBEI.

A) senemiLLD B) Ugslienu C) ®6vedyed D) Ampisysmisei

10. When sound waves travel from one medium to another medium, the quantity that
remain unchanged is
A) Speed B) Frequency C) Intensity D) Wavelength

10. @60 SIMeVB6IT G(H 2em_SHHe(HHSH WBEBIH 2m_&5HHMBEG GFeoqund GCumgl,
S HEWIL_UBDIET 61HAT D6y LOTBTH (HBEGHID?

A) Geusid B) oglitGleuesit C) Ganiley D) siemevsend
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11. The frequency of crossing over would be higher if
A) Two genes are located closely
B) Two genes are far apart on a chromosome
C) Two genes are not located on the same chromosome
D) None of the above

11. Spstanid gea@Id g SMeamHHTed GCImCorGambd &L b (HHawi() Dil9dbHly
Blapd eurui'n] SFSID

A) B daisel DIHBMHED DIMIDHSBIGTENHTEL

B) 8w PBaisend@ BmLuiled o eiten HMID DFHOTE EHHBTEL

C) 8w LBazsend @y &CrmConGambsd Eebeonsd &HTyewIs S enmed

D) ey oiemeaiggid Ee0ensv

12. Which one of the following bio geo chemical cycles is most dependant on bacteria?

A) Water cycle B) Carbon cycle C) Nitrogen cycle D) Phosphorous cycle
12. s spBdlsefled b eumad UTHlefwndsmen FMiThHEH 2 6Teng?

A) pr spmd  B) sniuer gipnd C) eoplgmen gpnd D) umeduged &Sipmd
13. Marble contains

A) ZnCO; B) CaCO; C) MgCO; D) K,CO;

13. Fovemauds H606060 (LGHMHIF) -—-m—m-mmm—mmm ©_GITGNHI.

A) ZnCO; B) CaCO; C) MgCO; D) K,CO;

14. In pesticides the example for contact poison is
A) Rotenone B) HCN C) Parathion D) C,H,

14. u&5d Qameveldefiled, OFHTL] lagdhIBE& @ 2 _HTJewid
A) CymgGevmmedt B) HCN C) Gugmguimest D) C;H,

15. Statement: There is passive movement of nearly 70% blood from auricle into ventricle.
Remaining 30% is pumped into ventricles by artirial contraction.

Reason: Opening of the atrio-ventricular valves

A) Statement in correct. Reason is wrong

B) Statement and reason are correct

C) Statement and reason are wrong

D) Statement is correct but the reason is not explaining the statement

15. ammpr: glflwmseiedmbgs Ceuen Modleisend@Ger 70% Brseid ramasbal 10bHS
Bemeoulled SPmmiGEBEHl. elehdlw 30% Oeuein fMobdeiaEnd@Gen gLl FihbHsHTe0

SHemfldb BLILIGSBS)

&ryewid: gl fwimr Geuein’ Mé@eonT eumebeysmelt HMLILIGTED

A) @by &f, SPMID Heusl B) saamm &fl, smeond &l

C) amBbp Heupl, SMJENID SHeupl D) samp &fl smewid gmBenms alendasalevensv
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1.Which of the following organization launched ‘Quit Tobacco App’ to
help people kick the cigarette butt and give up use of tobacco in all

forms?
a) UN b) WHO
c) FAO d) ICMR

1)'Quit tobacco app'

6T6oTM QLIWl6VL Ljem & ullemeu L] LIW6OTLIITL LY.60T T emLnemWlL]
Lmrlw eSS evorFemed U B S SID QLOTenLIGL QFWwed
FISLST 6L MWW SLILGSH W SjemoLiL] ?

a)UN b)WHO
c)FAO d)ICMR

2) Frank-Walter Steinmeier was recently appointed President of which

country?
a) France b) Uganda

c) Germany d) Australia

2)9gMBIG eumeLLT 6@ LW6TIAWIT 6THS BTL®H B UTMTSH
FOLSH 6L BlWIS &S LILILLTT?

a) L9y medrerv b)2_& mevoTLIT
Q21706 d)sL6evECredSlwim

3) Which of the following statement correct/wrong?
1. Anibal Torres elected as Peruvian Prime Minister
2. Antonio Costa elected as Prime Minister of Portugal
a) 1 correct 2 wrong b) 1 wrong 2 correct

c) 1 & 2 correct d) 1 & 2 wrong




3) &M MIG 6T TS
1. QU BITLL960T NTSLTTEH 3|60 lLeLESH T CH Ty

2.CUIMTE&E56V [HITL19.60T LATHLOTMS {6voTLMeol1GWIm
C&MerVLIT G5 T6

a)1 &1l 2 eum b) 156umi 2&1f]
0182 & d)1&2 seum

4) Which country was hit by Hurricane Eunice recently?
a) England b) Japan
c) New Zealand d) North Korea

4)F15LIG B 6L W,evflerv LjweL HTEH W BTH?

a) @\BEIS6VITH S b)e3LILImedT
A)BlWFRevmpH sl deuL@smlwm

5) Which country hosted the One Ocean summit 2022?
a) USA (Washington) b) Russia (Glasgow)

c) Australia (Canberra) d) France (Brest)

5)One Ocean summit 2022 HeMLQLIMM HTH?

a)USA (eu e miL eor) b)Faqwm (S eTmeruvGasIT)

)3V CTeOlWm(CHmeTUIT) d)LNpmedreru(LireruL)



1. Find the rate of compound interest at which a principal becomes 1.69 times itself

in 2 years
G JFrargl Sl oy wopuld 2 gyemigd msl GCureim 1.69 wLEG dng
steufled euLly eigld Smevirs.

a. 25% b. 30% c. 20% d. 10%

2. The difference between compound and simple interest on a certain sum of
money for 2 years at 2 % pa is Rs 1.The sum of money is
2% S alpulld 2 YEMIOSEHES R IFVSE HOLEG sl Gl ilpsEL
safla’ipsEh Gem Guueier allsSwretd em 1 eafld g&60 oy arg

a. 2,000 b. 1,500 c. 3,000 d. 2,500

3. Find the compound interest for 2 1/2 years on Rs 4000 at 10% pa if the interest is
compounded yearly
e 4,00065@ 10% gyeui® e ipullsd oy eurGE&ECST (pemm oLty SeursSl@L (Wpemmullsd 2
1/2 8y, 60ig MG LML &GS S (HiouLly STemTs.
a. 936.80 b. 986.30 c. 936.00 d.963.30

4. Find the Cl on Rs, 15,000 for 3 years if the rate of interest are 15%, 20%, and
25%for the 1,1l and Il years respectively.
LILIN gyemrQsenssrar ai'ly aismisar pmméw 15% , 20% whpib 25% sreflsw e
15,0008 3 JymmingNE& SWL&EG s O aullp

a. 10,500 b. 17,085 c. 10,785 d. 10,875
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5. A sum on compound interest becomes 3 times in 4 years How many years will it

take to become 27 times the original if the interest is calculated at the same rate
R CSTamsUTaTg gl (Haullp epeld 4 ai@pLHisafled 3 wLBISTSMG. G685 aigaigd epevld
JES CSTEOSHWTETF] TSI UL BISEHSE UnE 27 LLEISTGL

a.8 b. 12 c. 24 d.36

6. A sum of Rs. 12,000 deposited at compound interest becomes double after 5

years after 20years it will becomes

S B auligullsh pseiH QaunutiuL er.12,000 gyerg 59yt aumL (igeilsh @iyewr®

wLBisTEing). erafled 9Eg Qgrme 2094 aumL Wipalsd eleiere| &l G\ HEESLD.
a. 1,92,000 b. 1,20,000 c. 1,24,000 d. 60,000

7. The principal that will yield a compound interest of Rs 1632 in 2 years at 4% rate
of interest per annum in
4% oy eni(® eI lpaisn 2 i eange en.1632 snl () allly S I|F6

a. 25,000 b. 30,000 c. 35,000 d. 20,000

8. In what time will Rs. 6000 amount to 6615 at 5% pa compounded annually
em. 6,000 yergl 5% SpenE &l Dally aiFld THHmeT I auTped en. 6615 Y GLb.
a. 1 b.11/2 c.2 d.3

9. Find the difference between C-1 and S.I if P=8,000 n=3 years r=5%
P=8,000, r=5%, n=3 gyauihser eafl sl HiulipsGin SaflaipsEn Glsn Guwimer
ASSWred Srevrs.

a.8 b. 58 c. 61 d. 60
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10. I: The time taken for Rs.1,000 to become Rs. 1,331 at 20% p.a compounded

annually is 3 years
Il. The compound interest on Rs. 16,000 for 9 months at 20% p.a compounded

quartaly in2,522

l. 20% Sy e el igullsd gy T HSQET( (e aully SemTSSLLILGLD Wenmullsh em. 1000
QLT 3 QLeutTiped em. 1,331 QL& JyGld.

1. 20% Sy Wil el ipuilsh SreremieMES @H (PO Il ly SeTSSLILGLD Lpenmullsd
em-16,0006@ 9 LTFRISEHSES SmLEG gl Gl em. 2522

a. correct 1 & Il b. I1&Il wrong
c. | - Wrong & Il - Correct d. | - Correct & Il - Wrong
3. 1 &, 11 &f o5 | sy, 11 eyl

@. 1 seum, 1l & . | &, 1l Soum
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1.Emevigwimfled 2 6irer @wisdEeiflenr TentTeunTdemas ?

21)10 )12 @)15 /)40

2.wretrLoemilS Sl emaullsd g @remi(h LrLssmer giluy. Gurl gy miSlagdle QmQuWITSSTT?

3l) 5,100 9) 10,50 @) 15, 104 ) 7,100

3.@leuTeor HTMLG SnmID @l6uT6oTT GSFWIISET 6T856M60T ?

3l) 40 9) 20 @) 164 rr) 124

4.@evflweme BrHLG gnmid @efl GFweser 6T HemenT ?

9|) 40 3b) 20 @) 164 ) 124

5.Quemismensr @LleLBGSSH HEbETHS: SHIID LPSESHSMS (PSET (NSEOTSHES &nMlill Ere ?

) fovtudlsmmd gy) wefllGusmo  @)@ererm proug  F)@eflusme Brbug

B.uCeurenT &LpsseuTa @ EMe0SER6T 6(hHlenemreniu ((Lpssmeo)ol (BILD LITigiLl [iT60?

o)) Qereor proUg o) @eflwsmen BrHLS) ©) sriTETHUg ) serefl HTHUS)

766G UTL YLD YL L SaTSG (9)) QLT HHSHETSHS 6T60T (LPlgljLd [IT60?

o)) Qereor proUg o) @eflwsmen BrHLS) @) srTmErHug) ) semeufl BrhLg)

8.696110Gl6uT (G LML gYILD eLpeoTTmLd SyleuTled “@lLbepeTmitd” () “(@beLpeui” 6T6ur 6U(HLD HIT60?
NI ) ) FTT&GCSHTeme @)uyGumfl Ereymy ) eerd)

9.“us6 QanE Crrésmy @rra&@ Crrésmy usnGLUIWTT wsieT B~ @I bGumID KTed?

) EEIQET 3b) 3L &M &Gamme @)uyGurfl Bremy ) srd
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10. smmedlesr CaL L Gev meuTm)” 6T60T FnmILd HT60?
NI QT 1) 9L &TTSGaTeme @)upGmfl Ereymm ) eeord

11.&lpsewr_sunmieT QUITGEHESTSI 61817
) lmieugieneor 31, eLSiemeuT ©)FmiLosed] ) GlLI(pLo60 60

12.gmil @pkg WeTenst Heme @Iphg QuemTLm e eumil @Lks eurpelermi” @ bEUMID BT ?

9))dIflsBs1b 1) 9L &TTSGaTeme @)uyGrfl Ereyny ) e

13.@r 0L QM GHIe0&aT 6Temeu?

3|) SlmS@meT , SLOLITTLTWEDITLD

)\ MEGSST , BTV Wiy

@)@ BrHUg , @efluema HrHLS)

m)S S , Slmaurgsn

14.@iLoGadlsE adlyme Gauniu’L mre ?

9)) Fleotudlsmyin O, )emilGLogemen @)2_SWeGLmy SreilwiL ) reGad]

15." waarysorss sl waaser swGarammub EEcs srami Qrluilsd Flearm s Qeuigeui
EITEICHToI ST ~ 6TEITMEUIT WITHT?

3)) e 3b) (Lp-6u @) lm.al.5 w) &l.auey

16 . SlpEs686uT Hmawremn Ghlsg erhu Kme?
) Fous Sigroenll  91) ss58w Sigmoenf] @) #58lr germoenll  F)EfalHssw
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17. BouGamy mrywenTes UMM BT 6787

9)) Fous Spgroenll  g1) sumemurLg] @) #5dlr germoefl  F)EilelmSsL0

18. giseasail eTaTmEMSSILIEGILD HT6d 6T5)?

) Fous Spgmoenll  gy) auememurug @) @i Gae )Bfledl S0

19. MmassaT sarm omugre Gumfl Brameo el @unmiulL g?

3|) Qu(pEIEmS 3i) ausmeTWIMTLIS] @) G@eie GCasdl )Bilel (&S0

20. 1L (NS0T EMEOSERET STSSHTE (PHSILG) 618)?

) milsmemor ) SMHEESTMS @)omGnEIn FF) UmETsim)

21. uemllaisEnsE GaT&H@n UL srald), sl fam s mib Ere?

3 e lensuor ) ENIHECSTmS Q)rEnEID /F) UmbTennmi

22. UL ST FnboHeHEGS CBTHSELD LULLLD 6arTdl 66 Smib Hsd ?

9B hlsmeuor 2 )GOIECSTMmE ©)omIGnEID ) LM emmi

23. prrmullyid ( @l &id) eTeTm eTeuTEmIL GLIWIHES Geurs Smosny , Geaterid, SplbLed eTeTaILD
GuGITEmTEEHLD G)(HHSET 6TETM SamId HIT6D ?

9B hlsmeuor ) ENIHOSTEmS 0)pRGnEID /) LImGmenmi

24.510flevr (pHed @emaILTL 6D ETed 61817

3| dblenewor 3b)GNIHESTEmS @)EEnEID! FF) LifluimL_ed

25. eiLm,eyle 6Te0Tm eleflEQammast @ bGunm 6T FRISETO 6T8)?

9)BHlsmevnr 2)SNIEESTE S 8)emEnE) /) &allg0igmene:
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26.@LCouremand Caise GNlsgsH e mib HTe0 61g)?

3))mmilsneor ) S| SHTTIT) ©)oREnEI

27.510)& smeayeLd saTmessiL@GILD FTe e8)?

) milsmemor b)) S SETBT) @)umiBTEmMI

28.5(hS&eemevls LnMlé anmib QFresTiug Slenewr 61g)?

3)Geu 31) BIHMS @)euehd

29.0u5FEBEEUUTLH sTRTmEYSSILEILD HT6) 6T5I?

3| )(pedemsoliLim’ B ) &HlesSIuT B @)wsmeliL(HSL LD

30.BTETRIST, 9|606BIST @I DOLMID HT6 6787

3| )(pedemsoliLim’ B S 0G0 & Ehe @)emeulIL(H\SLITLD

) &60l&0STena

) S60l&0STena

) &mehel

FF) UL g GUTLILITE06D

FF) LIL g 60T LILIT6M60
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1. Let me but live my life from year to year,
With forward face and unreluctant soul;

Whom does the word ‘me’ refer to?

a) Receiver
b) People
c) Poet

d) God

Ans: c

2. Not hurrying to, nor turning from the goal;
Not mourning for the things that disappear
What is the figure of speech mentioned in these lines.
a) Simile
b) Metaphor
c) Personification
d) Anaphora

Ans: d

3. Not hurrying to, nor turning from the goal;
Not mourning for the things that disappear
What should one not mourn for?

a) Goal
b) Things
c) Past
d) Last

Ans: b

4. In the dim past, nor holding back in fear
What does the poet mean by the phrase ‘in the dim past’?
a) Dull past life



b) Happy past life
c) Dull present life
d) Happy present life

Ans: a

5. So let the way wind up the hill or down,
O'er rough or smooth, the journey will be joy:
Still seeking what | sought when but a boy,
New friendship, high adventure, and a crown

What is rhyme scheme of this stanza
a) AABB
b) AB AB
c) ABBA
d) AA BA

Ans: C

6. In the dim past, nor holding back in fear
From what the future veils; but with a whole
And happy heart, that pays its toll
To Youth and Age, and travels on with cheer.

Identify the rhyming words of the given lines.
a) Fear-whole
b) Whole-toll
c) Toll-cheer
d) From-future

Ans: b



7. She's a lioness; don't mess with her.
She'll not spare you if you're a prankster.

What is the figure of speech mentioned here?
a) Metaphor
b) Onomatopoeia
c) Simile
d) Repetition

Ans: a

8. She puts her life at stake,
She's real, she's not fake!
Pick out alliteration words from the lines
a) Stake-fake
b) She-stake
c) Real-she
d) She’s-not

Ans: b

9. Despite the sighs and groans and moans,
She's strong in her faith, firm in her belief!
Pick out the words that show her grit.

a) Sighs groans
b) Groans moans
c) She sighs

d) Faith firm

Ans: d

10.The summer of life she's ready to see in spring.
She says, "Spring will come again, my dear
Let me care for the ones who're near.
What does she mean by “spring will come again”?



a) Good times will come

b) Bad times will come

c) Presentis never change ever
d) None of the above

Ans: a

11.S5trong is she in her faith and belief.
“Persistence is the key to everything,” says she.
What is the key to everything?
a) Strong
b) Belief
c) Persistence
d) Beauty

Ans:c

12.A woman is beauty innate,

A symbol of power and strength.

She puts her life at stake,

She's real, she's not fake!

Pick out the rhyming words from the above lines.
a) Innate-strength
b) Stake-fake
c) Strength-stake
d) Norhyme

Ans: b

13.If not, he must die of starvation and sorrow.
Says the ant to the cricket, “I’m your servant and friend,
Who is the speaker here?
a) Poet
b) Cricket
c) Ant
d) Listener

Ans: c



14.My heart was so light

That | sang day and night,

For all nature looked gay.”

“For all nature looked gay”.

What is the rhyme scheme of the poem lines?
a) AABB
b) BB AA
c) AAAA
d) BB BB

Ans: a

15. Says the ant to the cricket, “I’m your servant and friend,
Who is the lazy character mentioned here?
a) Ant
b) Poet
c) Cricket
d) Servant

Ans: c

16.A silly young cricket accustomed to sing
Through the warm, sunny months of gay summer and spring.
What was the routine of the cricket?
a) Sleep
b) Sing
c) Saving
d) Lavishing

Ans: b

17.Began to complain when he found that,
at home, His cupboard was empty, and winter was come.
Who does he refer to?
a) Poet



b) Ant
c) Cricket
d) Listener

Ans: c

18.He wished only to borrow;
He’d repay it tomorrow;
Pick out the rhyming words in the above lines.
a) Wished-only
b) Repay-it
c) He-he'd
d) Borrow-tomorrow

Ans: d

19.We were taken from the ore-bed and the mine,
We were melted in the furnace and the pit
Who is the author of this poem?
a) Henry van dyke
b) Robert frost
c) Rudyard kipling
d) William wordsworth

Ans: c

20.1t will vanish and the stars will shine again,
What is the meaning for word ‘vanish ‘?
a) Appear
b) Disappear
c) Shine
d) Vein

Ans: b

21.We were cast and wrought and hammered to design,
We were cut and filed and tooled and gauged to fit.
Who does ‘we’ refer to in first line?
a) Human beings



b) Machines
c) God and goddess
d) Animals

Ans: b

22.We can pull and haul and push and lift and drive
What is the figure of speech here?
a) Metaphor
b) Personification
c) Simile
d) Assonance

Ans: b

23.Though our smoke may hide the Heavens from your eyes,
What is the figure of speech here?
a) Metaphor
b) Personification
c) connotation
d) Assonance

Ans: c

24.We can print and plough and weave and heat and light,
Pick out the alliteration words here.
a) We-can
b) Print-plough
c) Heat-light
d) Weave-and

Ans: b

25.Beneath all uniforms, a single body breathes
Like ours: the land our brothers walk upon
Is earth like this, in which we all shall lie.
What is found beneath all uniforms?
a) Star
b) Person
c) Earth



d) Sun
Ans: b

26.They, too, aware of sun and air and water,
Are fed by peaceful harvests, by war’s long winter starv’d.
Mention the season referred here?
a) Summer
b) Autumn
c) Spring
d) Winter

Ans: d

27.They, too, aware of sun and air and water,
Are fed by peaceful harvests, by war’s long winter starv’d.
What is the figure of speech here?
a) Hyperbole
b) Epithet
c) Transferred epithet
d) Metaphor

Ans: c

28.A labour not different from our own.
Remember they have eyes like ours that wake
Or sleep, and strength that can be won
By love. In every land is common life
What is the rhyme scheme of the lines?
a) ABAC
b) AB AB
c) AABB
d) BB AD

Ans: a

29.They, too, aware of sun and air and water,
Are fed by peaceful harvests, by war’s long winter starv’d.
How are we fed?
a) Sun



b) Winter
c) Harvest
d) Water

Ans: c

30.0ur hells of fire and dust outrage the innocence
Of air that is everywhere our own,
Remember, no men are foreign, and no countries strange.
Who are not foreign?
a) Birds
b) Fish
c) No men
d) Children

Ans: c






